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1 EHIE2E 58(4-1) = 3,207.000
2 BEZSLC 61(8-1H) 2 2,842.615
3 5 EFE 44(2-H) = 2,809.000
4 | K#¥ —5h 61(E-IR) = 2,789.000
5 |FEORWE 57(&-1H) = 2,768.562
6 |FHE LU 59(¢-3) 2 2,727.000
7 RRE ## 29(K-#) 2 2,700.843
8 |Xx=F 66(R-}]) 2 2,624.012
9 |mENWF 57(-#) 2 2,555.000
10 dtH 2 67(3-1) 2 2,520.000
11 B 03 47(8-5) 2 2,483.000
12 #EVEEL 56(H-3H) 2 2,438.000
13 EEB—B 54(4A-1) 2 2,433.437
14 HTEHDY 40(2-H) = 2,424.614
15  EiEhDOKE 50(4-38) 2 2,367.000
16 HHhdk>F 55( 1) 2 2,322.000
17 | O&TZEF 78(A-1) = 2,320.000
18 liOf&®D 59(&- 1) 2 2,255.000
19 #®HFhFLL 58(R-#H) = 1,945.000
20 |®HR BSAI 61(3-3]) 2 1,927.000
21  FiIAEXED 55(8 1) = 1,875.000
22 IZEBHEHE 51(E-F) 2 1,810.000
23 |luEFx&L 51(H-3) o 1,723.053
24  |HNVAF 68(H 1) 2 1,717.000
25 | KMUOThHA 63(H-1) 2 1,703.000
26 |($hRLLBHZE 48(F- %) = 1,680.000
27 | HE®REHNL 61(H-5) o 1,675.000
28 |KREAK=ER 57(E-B) 2 1,591.000
29 |d#tvbE S6(E-T) 1,530.000
30 N Bl 52(K-$) 1,520.385
31 |/METEBF 66(H-3) 1,493.000
32 |t®H EZ 61(& %) 1,411.000
33 |[tk4ALIFZ 65(H-1) 1,410.987
34 | ZOHHVBL S6(E-3) 1,381.000
35 |FERERM 59(R-#H) 1,284.000
36 |MNE BIEA 47(E-$) 1,269.000
37 MR Sttt 71(E-3) 1,261.000
38 |WWEAVBF 45(it-%) 1,174.946
39 [ ESEEL 43(E-H) 299.000




